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Directions:  Please choose the best answer and mark it on your Scantron.

1. Which statement is true concerning the TCP/IP protocol?             

a) NetBEUI will replace TCP/IP in 2006

b) TCP/IP is Microsoft’s proprietary networking protocol

c) TCP/IP servers deliver IP addresses to clients

d) TCP/IP is a suite of protocols developed by the Apple Labs

e) None of the above

2. When you are installing Windows 2000 over the network, which one of the following is not needed? 

a) A Distribution Server

b) A Target Computer with 2000 server compatible hardware

c) Global Partitions on the source computer

d) Fat partition on the target computer

e) Network client

3. Which item below is an installation phase of a Windows 2000 server?

a) Auto-Copy

b) Text-Copy

c) Last Mode

d) First Mode

e) None of the above

4. What type of event should you audit in order to log any instances of a user password being changed?                   

a) Object Access

b) Account Management

c) Process Tracking

d) System Events

e) None of the above

5. What is a computer running Windows 98 called if logs into a Windows 2000 network? 

a) Linux

b) Client

c) BDC

d) Domain Controller

e) None of the above

6. You have files on a 2003 member server on a volume named Accounting. The files in the Data folder have compressed files that need to be emailed to another location.  You also need to encrypt the files using the Microsoft Encrypting File System. What are your options for encrypting these files before emailing them to the new location?

a) Go to the folder properties dialog box, click the Security tab and select Encrypt

b) Go to the folder properties dialog box, click the General tab, click the Advanced button and then select the Encrypt Contents To Secure Data check box

c) Move the files to a folder named Encrypted on the Accounting volume that has encryption already activated for all files in the folder.  

d) You cannot encrypt the compressed files. 

e) None of the above

7. You need to test the TCP/IP configuration on a Windows 2000 Professional computer that can’t login to the network.  The computer has an IP Address of 172.16.32.122/24.   What should you ping first?

a) The Gateway

b) The loop back address

c) The IP address of the machine

d) The Internet

e) None of the above

8. You install a new video adapter in a Windows 2003 Server. You load the new video drivers, but after restarting, the display has unusually large letters. What should you do to fix this problem? 

a) Use the Recovery Console to restore the system state data

b) Use the Restore Wizard to restore the default display driver

c) Use the Emergency Repair Disk to repair the installation

d) Open the Display Properties dialog box, choose the Settings Tab and change the Screen Area setting to a higher resolution.

e) None of the above

9. You need to set up a Windows 2000 Professional computer for a user who is partially blind. Where should you make changes so that the user will be able to see larger type on the desktop? 

a) Choose Programs, Accessories, Accessibility, Magnifier

b) Micrsoft Word and set the default font larger and bold-face it

c) Set ShowCaptions to ON.

d) Change the resolution on the Desktop to 1024 by 768.

e) None of the above

10. You are the administrator for a small company. After installing Windows 2000 Professional on a user's computer, the user tries to log into the system as a guest. The user fails to log in after several tries. What could be the problem? 

a) You must create a guest account before the user can log in as a guest

b) Windows 2000 Professional does not allow guest accounts

c) The user does not have the correct guest account password.

d) The guest account must be authorized by the Domain Controller

e) None of the above

11. Which utility would you use to create a single tool that only has Disk Defragmenter, Disk Manager and Device Manager in it.

a) MMC

b) Notepad

c) Computer Management

d) Author Mode

e) None of the above

12. What is the default Directory Services functional level for a freshly installed Windows 2000 domain controller added to a Windows 2000 Active Directory network?

a) Windows NT

b) Mixed Mode

c) Windows 2000

d) Windows NT Forest Mode

e) None of the above

13. A user logs into three different computers on two different NT domains.  How many user accounts does the network administrator have to create for this user?  

a) None, NT Domains don’t have user accounts.

b) 1

c) 2

d) 3

e) None of the above

14. What licensing choices do you have in a Windows 2000 Active Directory Network? 

a) Per Access, Per Seat

b) Per Seat, Per Server

c) Per Server, Per Access

d) Per Domain

e) None of the above

15. What is the subnet mask of the following IP address: 150.150.65.10/19?

a) 255.255.224.0

b) 255.255.255.0

c) 255.255.0.0

d) 150.150.65.10

e) None of the above

\

16. How many Windows 98 laptops can be configured to use the same TCP/IP address on a network? 

a) 1

b) 2

c) 24

d) 32

e) None of the above

17. Which statement is true concerning the Windows 98 NTFS file system? 

a) Windows 98 doesn’t support NTFS.

b) It replaces the need to create shares and share permissions

c) Supports Disk Quotas at the user level 

d) All Windows 98 clients can access files on NTFS partitions

e) None of the above

18. What type of a disk configuration permits one to create multiple partitions on a disk?

a) System

b) Basic

c) Dynamic

d) Active Directory

e) None of the above

19. What does the term Mirroring refer to on a Windows 2000 server? 

a) Creating the shiny surfaces on the hard drive platters.

b) A second hard drive maintains a real-time duplicate copy of another data drive.

c) Installing Duplicate In-line Mirroring Modules (DIMMS) for RAM.

d) Installing duplicate hard drive controllers for redundancy

e) None of the above

20. What kind of printers do you need to enable printer pooling?

a) Any printers compatible with Windows 2000/2003

b) Any printers as long as they are the same type, such as laser 

c) Printers of the same manufacturer and model with identical features

d) Printer pooling is no longer available in the Windows 2000+ networks

e) None of the above

21. Windows XP Clients need to use an HP4000 Laser Jet Printer that has already been installed on the network.  What is the easiest method for clients to install the appropriate HP 4000 Print Drivers? 

a) Contact the network administrator and request the HP4000 CD with drivers on it.

b) Go to www.drivers.com and locate the print drivers

c) The drivers will self-install when printing to the specified network printer

d) HP Printers don’t need drivers when doing network printing

e) None of the above

22. Jon has granted Everyone the Full Control Share Permissions to the DATA folder on his Windows XP computer with the NTFS file system.  In order to allow network users to  make changes to permissions on the DATA folder, what NTFS permission should be granted to anyone accessing the DATA folder from the network?

a) Read

b) Read & Execute

c) Write

d) Modify

e) None of the above

23. You need to create a shared folder on a Windows XP computer in an adjacent office.  Several network users need access to this folder.  How do you accomplish the task?

a) Go login to the computer as a Network Guest and create the shared folder

b) Go login to the computer as the local administrator and create the shared folder

c) Ask the primary user of that computer to take care of the task for you

d) Ask the office secretary to take care of the task for you

e) None of the above

24. Which Windows 2000 utility provides dial-up access to other computers?

a) RoadWarrior

b) Telnet

c) TeleTerminal

d) HyperTerminal

e) None of the above

25. Which statement is true concerning partitions on a Windows 2000 Server?

a) The first partition must be a primary partition, and the second partition must be a secondary partition.

b) You can only create one primary partition and up to four extended partitions

c) You can only create one primary partition and up to four logical drives

d) You can create up to four primary partitions and one extended partition

e) None of the above

26. You are going to install Windows 2000 Advanced Server on several computers on your network. You want to create a script for an installation that will automatically answer many of the questions that come up during installation. What is the name of the sample file that provides a template for automatically providing answers during an install?

a) Autoinstall.txt

b) Unattend.txt

c) Sysinfo.txt

d) AutoAnswer.txt

e) None of the above

27. Which one of the following is a valid kind of Windows 2000 Server that can be purchased off the shelf?

a) Data Center

b) Standard

c) Back up Domain Controller

d) Domain Controller

e) None of the above

28. Windows Server 2000 provides Internet browsing capabilities through what integral software product?

a) FireFox

b) Internet Explorer

c) Gopher

d) Netscape

e) None of the above

29.  What type of disk controller allows up to 14 devices connected to it?

a) RAID

b) IDE

c) SCSI

d) FDDI

e) None of the above

30.  Which disk format is recommended for an NT domain controller?

a) EFS

b) NTFS

c) FAT16

d) FAT32

e) None of the above

31. Joni has granted the Everyone group the Full Control Share Permissions to the DATA folder on a Windows 2003 Member Server.  She has also granted the Domain Users the NTFS Read permission to the DATA folder.  After James has logged into the domain on his XP Workstation, he will have what permission(s) to the data folder?

a) Read

b) Read and Change

c) Full Control

d) No Access

e) None of the above

32. Which IP address is considered a public address?

a) 172.50.50.50

b) 10.25.25.25

c) 192.168.168.168

d) 224.16.16.16

e) None of the above

33. You may change a dynamic disk to a basic disk by:

a) Backing up all data and reformatting as a basic disk.

b) Using the convert.exe tool and rebooting

c) Replacing your disks with a simple volume

d) Mounting the disk as a folder in another basic disk

e) None of the above

34. Which statement is true concerning logical drives?

a) Logical drives are created in primary partitions

b) Logical drives are created in extended partitions

c) Logical drives provides fault tolerance

d) Logical drives are limited to four primary partitions.

e) None of the above

35. To get away from using Windows 2000 Server Setup boot diskettes for a new installation, you need a ______________ CD ROM drive.

a) R/W

b) Self-booting

c) Hewlett Packard

d) MacIntosh

e) None of the above

36.  What is the default trust relationship between Windows NT 4.0 domains?

a) Two way explicit trusts

b) Two way implicit trusts

c) One way explicit trust

d) No Trusts

e) None of the above

37. What is the default trust relationship between Windows 2003 server domains if they have a parent child relationship?

a) One way transitive trusts

b) Two way explicit trusts

c) Two way transitive trust

d) No Trusts

e) None of the above

38. A Windows 2000 Forest normally has all of the components listed below except:

a) A Domain

b) A global catalog

c) A workgroup

d) A common schema

e) None of the above

39. In a Windows 2000 network, which administrative group has full rights over the entire network, no matter how complex it gets.

a) Network Administrator

b) Enterprise Administrator

c) Schema Administrator

d) Domain Administrator

e) None of the above

40. In TCP/IP addressing, a class B address has which default mask?

a) 255.0.0.0

b) 255.255.0.0

c) 255.255.255.0

d) 255.255.255.255

e) None of the above

41. A cross-over CAT 5 cable can be used to connect

a) A router to a switch

b) A laptop to a PC

c) A switch to a laptop

d) A hub to a PC

e) None of the above

42. When the default mask for a class C address is changed by adding more bits to the mask, we call this process

a) Supernetting

b) Extranetting

c) Subnetting

d) Partitioning

e) None of the above

43.  A simple volume can be changed to a ____________ volume.

a) RAID 5.

b) Basic

c) Spanned

d) FAT32

e) None of the above

44.   Which master role is necessary to add or remove domains?

a) Domain Naming 

b) RID 

c) Schema 

d) PDC Emulator

e) None of the above

45. The IP Address 10.10.10.10 with a mask of 255.255.255.0 belongs to a(n) ___________.

a) Supernet

b) Extranet

c) Subnet

d) Partition

e) None of the above

46. An IP Address (Version IV) is composed of how many bits?

a) 64

b) 32

c) 16

d) 8

e) None of the above

47. An IP address (Version IV) is composed of how many octets.

a) 8

b) 4

c) 2

d) 1

e) None of the above

48. Borrowing three bits in a Class C Address for subnetting, creates ___ subnets.

a) 6

b) 5

c) 4

d) 3

e) None of the above

49. When borrowing three bits in a class C address, and the remaining five bits are zeros, what type of address is this?

a) Host

b) Client

c) Broadcast

d) Network

e) None of the above

50. What tool would you use to schedule an application to start automatically at a specified time on a Windows 2003 server?

a) Windows Application Manager

b) Windows Task Scheduler

c) Windows Backup Program

d) Windows Task Manager

e) None of the above

51. When borrowing three bits in a Class C address, and the remaining five bits are all ones, what type of address is this?

a) Broadcast

b) Network

c) Client

d) Host

e) None of the above

52. Which statement is true regarding group membership and access to resources?

a) A Global Group can have members from any domain in the forest

b) A Domain Local Group can have members from any domain in the tree

c) A Global Group can only have permissions to their local domain

d) A Domain Local Group can have permission to any domain in the tree

e) None of the above

53. What type of backup makes a copy of Active Directory Services and the related files for a Domain Controller in order to do a non-authoritative restore at a later date?

a) Full Backup

b) System State Backup

c) Last Known Good Backup

d) Differential Backup

e) None of the above

54. What type of a restore needs to be done for Directory Services if there was only one domain controller, and the domain controller was down for a week?

a) Non-Authoritative

b) Differential

c) Authoritative

d) Incremental

e) None of the above

55. Which backup procedure changes the archive bit of the files that it backs up?

a) Copy

b) Daily

c) Full Backup

d) Differential

e) None of the above

56. Which built-in group is configured to specifically do backups and restores of data on the network servers?

a) Printer Operator

b) Administrator

c) Domain Administrator

d) Enterprise Administrator

e) None of the above

57. If a domain controller crashes due to a power outage, a __________ is often all that is needed to fix the problems that may have occurred with the Active Directory files.

a) installation

b) download

c) restart

d) recovery

e) None of the above

58. Which one of the following is backed up during a System State backup on a Domain Controller with the Windows 2000 Operating System stored in the Windows folder?

a) The Windows Folder

b) User Data Files

c) Files in the Primary Partition

d) Active Directory

e) None of the above

59. Which IP Address Class is used for Multi-Cast addressing?

a) A

b) B

c) C

d) D

e) None of the above

60.  Windows 2003 Server comes in several flavors.  Which one is the most powerful?

a) Standard

b) Advanced

c) Enterprise

d) Data Center
e) None of the above
